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Exponent Worksheet – 3 

1. Find 𝑥  ቀ
ଶ

ଽ
ቁ

ସ
 × ቀ

ଶ

ଽ
ቁ

ି଻
 = ቀ

ଶ

ଽ
ቁ

ଶ௫ିଵ
. 

a) -2       b) -7 

c) 1       d)  -1 

2. Find the value of (3-1× 4-1) ÷ 2-2. 

a) ଵ

଺
       b)  

ଵ

ଷ
 

c) 3       d) ଵ

ଵଶ
 

3. Find the value of   ቀଵ

ସ
ቁ

ିଶ
+ ቀଵ

ହ
ቁ

ିଵ
+ ቀଵ

ଷ
ቁ

ିଵ
. 

a) 24       b)  ଵ

ଶଷ
 

c) ଵ

ଶସ
       d) None of these 

4. Evaluate (-4)-3. 

a)  ଵ

଺ସ
       b) 64 

c) ିଵ

଺ସ
       d) None of these 

5. Evaluate ቀ
ିଶ

ହ
ቁ

ିହ
. 

a) ଷଶ

ଷଵଶହ
       b) −

ଷଶ

ଷଵଶହ
 

c) 3125       d) −
ଷଵଶହ

ଷଶ
 

6. The value of (7-1- 6-1)-1 – (5-1 – 3-1)-1 is _____.  

a) 63
ଵ

ଶ
       b) 23

ଵ

ଶ
 

c) 42ଵ

ଷ
       d) None of these 

7. For a non -zero integer n, {(n3)-4 }5 is equal to _____. 

a) n-20       b) n-60 

c) n-7       d) n60  

8. Evaluate ൜ቀ
ିଵ

ସ
ቁ

ଷ

ൠ
ିଶ

 , we get _____. 

a)  
 ଵ

ସ଴ଽ
       b) 4024 

c) 4096       d) ଵ

ସ଴ଶ
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9. Evaluate ൜ቀ
ହ

ସ
ቁ

ିଵ
− ቀ

ହ

ଷ
ቁ

ିଶ

ൠ
ିଵ

, then get _____. 

a) ଵଵ

ଶହ
       b) 25 

c) 3
ଶ

ଵଵ
       d) 2

ଷ

ଵଵ
 

10. For any two non-zero rational numbers R and S, R5 ÷ S5 is equal to _____. 

a) (R ÷ S)0       b) (R ÷ S)10 

c) (R÷S)5                    d) None of these 

11. By what number should (-8)-1 be multiplied, so that the product become (18)-1? 

a) ଵ

ଽ
       b)  ିସ

ଽ
 

c) ିଶ

ଽ
       d)  

ସ

ଽ
 

12. Evaluate ቀଽ

ହ
ቁ

ିଶ
× ቀହ

ଽ
ቁ

ିଷ
 × ቀହ

ଽ
ቁ

଴
, then get _____. 

a) ଽ

ହ
       b) 9 

c) ହ

ଽ
       d) 5 

13. Convert 47.36 into standard form. 

a) 4.736 × 102      b) 4.736 × 10 

c) 0.4736000      d) 47360 

14. Convert 3.2356 × 107 to usual form. 

a) 32356000      b) 3.2356000 

c) 32.3560000      d)  323560000000 

15. Find the value of x for ൜ቀ
ିଶ

ହ
ቁ

ଶ

ൠ
௫

× ቀ
ିହ

ଶ
ቁ

ିଵ
= ି଼

ଵଶହ
. 

a) -2       b) -5 

c) 2       d) ସ

ଶହ
 

16. Simplify ቀ௭ೌ

௭್ቁ

భ

ೌ್ × ቀ௭್

௭೎ቁ

భ

್೎
 × ቀ௭೎

௭ೌቁ

భ

೎ೌ. 

a) -1       b) ଵ

ଶ
 

c) 2       d) 1 

17. Find the multiplicative inverse of (70 + 40) (40- 30). 

a) 1       b) 0 
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c) Does not exist       d) -1 

18. Evaluate ௣೘

௣೘ା௣೙ + ଵ

௣೘ష೙ା ଵ
, we get _____. 

a) ௣

௤
       b) 1 

c) -2       d) -1 

19. Find the value of m, if ଷ
ష೘×ଽమ೘శభ×ଶ଻మ೘

ଽయ೘ = ଵ

଼ଵ
. 

a) -3       b) 9 

c) -2       d) ିଶ

ଷ
 

20. If ቀଶହ

ଵ଺
ቁ

ିସ
× ቀସ

ହ
ቁ

ଷ
= ቀ௠

௡
ቁ

ଵଵ
, find the value of ቀ௠

௡
ቁ

ିଶ
. 

a) ଵ଺

ଶହ
       b) ଺ସ

ଵଶହ
 

c) ସ

ହ
       d)  ଶହ

ଵ଺
 

 

                                                                                                                                                                                                                               


